METRIC CONVERSIONS AND PROBLEM SOLVING

1.
The average mass of the heart of a human baby is about one ounce.  What is the mass in milligrams?  
(1 lb =  454 g)

2.
Convert 6.8 x 104 mg to kg.

3.
A regular aspirin tablet contains 5.0 grains of aspirin.  How many grams of aspirin are in one tablet?  
(1 grain = 1/7000 lb and 2.2 lb = 1 kg)

4.
Convert 2 inch2 to cm2   (2.54 cm = 1 inch)

5.
When the space probe Galileo reached Jupiter in 1995, it was traveling at an average speed of 27,000 miles per hour.  What was its speed in kilometers per second?     (1 km = .621 mile)

6.
A sample of water has a volume of 0.35 m3.  What would be the mass of this water in grams?     
(Since water has a density of 1 g/cm3, 1 g = 1 cm3)

7.
The density of a substance is 1.03g/cm3.  What would be the density in mg/mm3?

8.
Convert 2.09 x 109 micrograms to decagrams.

9.
Convert  539 dag/dm3 to cg/mm3.

10.
A sample of water fills a graduated cylinder 63 mL.  How much space would this water occupy in dm3?
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A sample of water has a volume of 0.35 m3.  What would be the mass of this water in grams?     
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Answers
1.
The average mass of the heart of a human baby is about one ounce.  What is the mass in milligrams?  
(1 lb =  454 g)
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2.
Convert 6.8 x 104 mg to kg.
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3.
A regular aspirin tablet contains 5.0 grains of aspirin.  How many grams of aspirin are in one tablet?  
(1 grain = 1/7000 lb and 2.2 lb = 1 kg)
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4.
Convert 2 inch2 to cm2   (2.54 cm = 1 inch)
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5.
When the space probe Galileo reached Jupiter in 1995, it was traveling at an average speed of 27,000 miles per hour.  What was its speed in kilometers per second?    (1 km = 0.621 mile)
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6.
A sample of water has a volume of 0.35 m3.  What would be the mass of this water in grams?     
(Since water has a density of 1 g/cm3, 1 g = 1 cm3)
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7.
The density of a substance is 1.03g/cm3.  What would be the density in mg/mm3?
[image: image8.png]1039 | 1000mg | (100)3 cm3 | (13 m3

| | ‘ =1.03mg/ mm3
cm3 19 (1)3m3 (1000)3 mm3




8.
Convert 2.09 x 109 micrograms to decagrams.
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9.
Convert  539 dag/dm3 to cg/mm3.
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10.
A sample of water fills a graduated cylinder 63 mL.  How much space would this water occupy in dm3?
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